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You bite into an apple and then try to tell your mum about what
happened at school. But something feels funny.....one of your
baby teeth has fallen out! It’s been loose forever, and now there
it is, right in your hand. You now have an empty space in your
mouth and a brand new smile!

Before you put that tooth under your pillow, did you know that there is much
more to that tooth than meets the eye? A single tooth has many different parts
that make it work. And teeth play an important role in your daily life. They not
only help you to eat apples, they also help you talk.

Milk Teeth

Unlike your heart or brain, your teeth weren't ready to work
from the day you were born. Very occasionally, babies have
the beginnings of their first teeth when they are born, but

teeth don’t usually become visible until babies are about 6 to
12 months old.

After a babyss first tooth breaks through, more and more
teeth begin to appear, until there are 20. These teeth are
often called milk teeth, or baby teeth. When a child gets to
age 5 or b, these teeth start falling out, one by one.

A milk tooth falls out because it is being pushed out of the way
by the permanent {adult) tooth that is growing behind it. By about
the age of 12 or 13, most children have lost all of their baby teeth and
have a full set of permanent teeth.

There are 28 permanent teeth in all — eight more than the original set of baby teeth.
Between the ages of 1/ and 25, four more teeth called wisdom teeth usually grow in at
the back of the mouth. They complete the adult set of 32 teeth.
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Tooth Types

You've probably noticed that you have different types of permanent teeth in your mouth.
Each one has its own function.

Incisors
Description Function
sharp, shaped like a small chisel used for cutting and shearing
pointed and sharp used for gripping and tearing
large and strong with ridges used for grinding
wider and stronger than used for crushing and chewing
premolars, more ridges
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Toothy Tools for Talking

Your teeth are great for chewing, but you also need them to talk. Different teeth work
with your tongue and lips to help you form sounds. Try saying the word “tooth” slowly
and notice how your tongue first hits the inside of your incisors to produce the hard “t”
sound and then goes in between your upper and lower teeth to make the “th” sound.

And if you love to sing “la la la la la,” you can thank those teeth every time you sing a
song. How do your teeth help you to make that “I” sound?

Belle’s Brilliant Blog

Belle is a dentist. She writes a weekly blog for the patients at her surgery to read while they
wait for their appointments. Below are some examples of her blog entries.
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Year 4 Reading Assessment Non-Fiction

24, According to the section ‘Milk Teeth’, at what age do young children’s teeth usually start falling out?

25. Look at ‘Tooth Types.
Using the information in this section, draw lines to match the tooth type to its position

in the mouth.

“itotalfors: .
; thispage -
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Year 4 Reading Assessment Non-Fiction

26. Using the information in the ‘Tooth Types’ section, draw lines to match these teeth to their function.

C premolar ) ( used for gripping and tearing : )
(= )
C canine ) ( used for crushing and chewing )
( incisor ) C )

used for cutting and shearing

used for grinding

27. Look at the section ‘Terrific Teeth’

What is the crown of each tooth covered with? Tick one.

Tick one

dentin D
pulp D
enamel D

28. In the ‘Milk Teeth’ section, it states that babies’ teeth become ‘visible’ when they are about
6-12 months old. Which word has the same meaning as the word ‘visible’?
Circle one.

( noticeable ) C invisible ) ( hidden ) ( missing )

twinkl.co.uk



Year 4 Reading Assessment Non-Fiction

29. Look at the beginning of the section ‘Teeth and Food’ in ‘Belle’s Brilliant Blog’.

Find and copy two sentences which explains why Belle’s surgery has been so busy.

30. Look at the section ‘Toothy Tools for Talking'

Using information from the text, tick one box in each row to say whether the statement is
true or false.

Statement True False

Teeth do not help us to talk.

We make sounds using our tongue, lips and teeth.

When we say ‘th’, our tongue goes between our upper and lower teeth.

Look at ‘Belle’s Brilliant Blog’ to answer questions 31-33.

31. Why do you think Belle’s surgery give away samples of dental floss for free?

Ctota o
< thisipage .
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Year 4 Reading Assessment Non-Fiction

32. Sammy does not look after her teeth very well.

Give two reasons from the text that show this

33. Why does Belle think that some of her patients won't be eating any more bonfire toffee?
Give two reasons,

SRR

%’;/%

34. This question refers to the whole of the text ‘Teeth’

Referring to the text, give three ways in which your life would be affected if you didn’t look
after your teeth.

35. Look at the section ‘Milk Teeth’

Find and copy a word which refers to adult teeth that means ‘long-lasting’
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Year 4 Reading Assessment Non-Fiction

36. Using examples from the text to support your answer, what is the overall aim of this text?
Give two examples.
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’ Woas or Were Subject-Verb Agreement

I can use the standard English forms of verb inflections.

The basic rule is that a singular subject takes a singular verb, while a plural subject takes a plural verb.

+ Read the sentence.
* Decide whether the subject is singular or plural.
« Circle the correct verb.

was = singular were = plural
a) He (wasfwere) prepared for school.
b) We (was/were) scared of thunder.
c) I (wasfwere) excited about my new book.
d) We (wasfwere) playing together as a team.
e) She (was/were) my best friend.
§) We (was/were) excited about the championship game.
g) They (was/were) walking around the lake.
h) He (was/were) a very sensible member of the class.
i) Can you tell if they (was/were) prepared?

j} Who (wasiwere) with us at the birthday party?

$PaG | Standard English Verb Inflections

twinkl.co.uk



Times Table Test - 5x Table

Check Check
1, 5x0= 13. 25+ 5 =
2, 5x7-= 14, 15+5=
3. 2x5= 15. 55+ 5 =
4. 11 x5 = 16. 10+ 5=
5. 5x12 = 17, 20+ 5 =
6. 1x5-= 18, 40 + 5 =
7. 5x 4= 19, 5:5-=
8. 5x10= 20. 60+ 5=
9. 8 x5 = 21 35+5=
10. 3x5= 22. 30+ 5=
11, 5x6 = 23. 50+ 5 =
12. 5x 9= 24, 45 + 5 =
My score: My score last time:

How I can improve:

W visit twinkl.com W
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Compensation Strategy Addition

Show how you got your answer using the compensation strategy.

a. 39+25= b. 29 +13 =
c. 15+19= d. 9+23=
e. 39+15 = f. 29+26=
g. 49 +16 = h. 19 +33 =
i. 9+37= . 29 + 24 =
k. 29 +16 = . 9+37=

visit twinkk.com.au




Compensation Strategy Addition

Show how you got your answer using the compensation strategy.

a. 59 +35 = b. 49 + 25 =
c. 64+ 29~ d. 55+ 39 =
e. 69 +35= f.14+79 =
g. 89 +13= h. 73 + 39 =
L 99 +25= jo 719+ 24 =
k. 47 + 59 = l. 56 + 49 =

E
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Do you have a cat? Maybe you are thinking about getting a cat as
a pet? Read on to find out more about these wonderful creatures.

The History of Cats

Did you know that all cats, including lions, tigers and our own pets, are descended from one
prehistoric creature? And that it was cats that chose to live with people, not the other way round?

w 3 twinkl.co.uk



Body Langquage

Just because your cat can’t use words, it doesn’t mean he isn’t talking to you.
Cats are clever - they use body language to communicate with you and other animals.

Body language
Tail up and relaxed, relaxed ears facing forwards,
often walking towards you.

Cat’s mood
Relaxed, friendly cat saying.hello

Body language

Often starts with a tail up, cat rubs his head and
side of his body around your legs and sometimes
may roll over onto his side to show his belly.

Cat’s mood
Relaxed, friendly cat saying hello; often seen if you
have not seen each other for a while.

Body language

In a crouched position with tail tucked around or
under his body and tense muscles. His eyes may
look large and be darting about and ears back
or moving, listening to sounds around him. He
may lick his nose to show that he is unhappy
andfor scared.

Cat’s mood
Unhappy cat who might be looking for a place to
hide, to run away and get up high.

Body language

Arched back, bushy tail and fur standing up to
make herself look bigger. Often her eyes look huge
as the black middle parts of the eyes (pupil) are big.
Ears may be flattened against her head.

Cat’s mood

Cat is very scared and fearful. She might feel
trapped and may hiss or spit as a warning to stay
back. Be careful as she may try to scratch or bite
you to protect herself because she doesn't feel safe.

4 twinkl.co.uk




Looking After a Cat

A cat is the very best pet you can own.
Here are the key things you should know about looking after a cat.

W 5 twinkl.co.uk



Which Cat is Right For Me?

There are lots of cats — usually mixed breeds called moggies - looking jor new homes through
rescue charities such as the Cats Protection and the RS.P.CA.

However, if you choose to get a pedigree cat,
what can you expect from some of the different breeds?

Beautiful spotted or swirly coat.
Loves water and might join you in the shower.

Often coos or chirrups instead of miaowing

Started in 1950 when a Cornish cat gave birth to a
curly-haired kitten.

Will often play ‘fetch’ with their toys like a dog!

Four white paws (which look like gloves} and bright
blue eyes.

The first Birman cats lived in Buddhist temples in
Burma.

Originally owned by the Royal Family in Thailand
(formerly Siam).

Talkative and welcoming to visitors, but can get
jealous.

w 6 twinkl.co.uk
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Year 4 Reading Assessment Non-Fiction

1. How many pet cats live in Britain? Circle one.

( 5 million ) ( 9000 > ( 9 million ) ( 2000

2. Using the information on page 3, use the numbers 1-5 to put them in chronological order

(oldest first)
- - ™ r ™
Cats were used during the First World War to control rats on ships.

\ A \ A

7 ™ ~ ™
The first carnivores that looked like cats walked the earth.

\ A . >

s N ™
Romans introduced cats to Europe.

\ / \. o

- ™y r ™\
Over 4 million cats now live in Britain,

\ 7 . v

f \ ' ™
African wildcats began to enter towns in search of feod.

\ A . S

@ & @ & [N & @m & fo @ H OB & & & & ke Rt £ 21 % el & R Fo R < fie = % & # i

Use the table on page 6 to answer questions 3 and 4.

3. Which breed of cat is welcoming to visitors?

e
thispage:.
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Year 4 Reading Assessment Non-Fiction

5. Using the information on page 4, draw lines to match these cat feelings to the correct body

language.
sy s g forve
crouched position, tail tucked under,
unhappy

eyes large and darting

tail up, rubs side of head and body

relaxed around your legs, might roll over

o YanYaR
AN AN,
TN )
AN AN,

£
I
@
@
=
o
23
@
5]
o
e
L3
=3
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&
@
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o
&

6. On page 6, different breeds of cat are listed. Which word has the closest meaning to ‘breed’ in
this context? Circle one.

(e ) ( wma ) we )

s 2 8 & % ® & B 2 8 @ 0 & € 8 & 6 £ 4 B B E T E S 6 & B & T ¢ ¥ & & € 6 B FT G H O

7. Find and copy the reason that the Egyptians welcomed cats into their homes.

8. What is the author’s opinion of cats? Using words from the text, give two reasons for your
answer.

w visit twinkl.com @’



Year 4 Reading Assessment Non-Fiction

9. Find and copy two ways in which a cat uses body language to show he is very scared.

-
1.

-
-
2.
-

11. On page 5, the author has used a different colour for some of the words on the page.

Give two reasons why.

/1.
\-
(2.
\-

12. What might a Bengal cat do to get your attention?

Ciotal
s this

:'p_age :
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Year 4 Reading Assessment Non-Fiction

13. Give one reason why cats were important during the First World War.

&

14. Why has the author written this text about cats?
Using the text, give at least three reasons for your opinion.

F sty Shenird &
s ormies /
e W
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B Woas or Were Subject-Verb Agreement

[ can use the standard English forms of verb inflections.

The basic rule is that a singular subject takes a singular verb, while a plural subject takes a plural verb.

* Read the sentence.
* Decide whether the subject is singular or plural.
» Circle the correct verb.

was = singular were = plurai

a) He (was/were) prepared for school.

b) We (was/were) scared of thunder.

c) I (was/were) excited about my new book.
d) We (was/were) playing together as a team.

e) She (was/were) my best friend.

f) We (was/were) excited about the championship game.

g) They (was/were) walking around the lake.
h) He (was/were) a very sensible member of the class.
i) Can you tell if they (was/were) prepared?

j) Who (was/were) with us at the birthday party?

Write four of your own senterices, like the examples above, which use the verbs was and were correctly.

1.

»

. ¥ L
W planit
=
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Times Table Test - 10x Table

Check Check

1. 10x7 = 13. 100 = 10 =
2. 10x6= 14. 30+ 10 =
3. 2x10 = 15. 110 + 10 =
4, 11 x 10 = 16. 20+ 10 =
5. 10 %12 = 17. 40 + 10 =
6. 1x10-= 18. 70 + 10 =
7. 10 x 4 = 19. 10 + 10 =
8. 9 x 10 = 20. 120 + 10 =
9. 10x 8 = 21. 60 + 10 =
10. 3x10= 22. 50+ 10 =
11. 10x0 = 23. 90 + 10 =
12. 10 x 10 = 24, 80 + 10 =
My score: My score last time:

How I can improve:

W visit twinkl.com @
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Split Strategy Subtraction

Show how you got your answer using the split strategy. The first one has been
done for you.

a) 56 - 33 = b) 49 - 27 =
50 - 30 = 20 - =
6-3=3 - =
20 + 3 = 23 . =
56 - 33 = 23

49 - 27 =

c) 35-14 = d) 58 - 23 =

+ = + =
35-14=_ 58 -23=___

e) 66 - 43 = f) 29-18 =

+ = + =
66 - 43 = 29 - 18 =

* visit twinkl.com.au T@‘
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Split Strategy Subtraction

Show how you got your answer using the split strategy. The first one has been
done for you.

Q) 77 - 44 = b) 81 - 41 =
+ = + =
77 — bb = 81-41=__
c) 97 - 62 = d) 87 -34 =
+ = - =
97 —62 = 87 -34=__
e) 58 - 55 = f) 94-82 =
+ = + o=
58 - 55 =__ 9L - 82 = ____

[y
W ** visit twinkl.com.au @j
il

aaly Stanased
»prea /
[n— L




S

o

o

¢1sapanf ay1 dumf uoa oypn dwnf pup azyiabor sbz) moft ynm pums

et

TR

Gt
o

G

e

‘BuiBua)ioyo atow ) syow 03 Binyzewos uo Buipuoss fiay pnes noA “suim Isebuot
a3 3ouDnjpq J12Y} PIoY UDD aym uastad ayy jrof scunmng v ploy nefi uod huo] moy

o

y

iz

ibba unofi doup 3 ueq jsans pup ucods v ue Bba un 2audDy

DI

-12b403 to jayong pup Bog upaq J¢ oy ¥

‘uossad 14o03 Jof uoods pup 5ba

ZAINUAL AUO U] 13391 B 03U [10q 1 Moyl nefi uny sawn Rumu moH

SJayJoW ysnnf pup 103

-aond anofi Jof Dasp uD asooy)

uzwdimba

modiissag

Juawdinb3

:uondiassag)




sayyabioy sBa) anofi an 01 a)gpuns Buyiswos Jo fmwos v suawdinby

‘2J01 D A

awoy anofi u) ajdoad ybnous aup auzys J1 ceInuiw auo u) op nof ups sdoj Auow moy  tuoidirsag

S

S

S
e

*SJ1DYD 0m] uo pastoyng ysniq Guo) o aund ooquung v UIDYD D S2A0 21GDY BY] Japun :SDapy Juswidinby

jalnul 2uo up Japun puv Jaao of uoz nofi awoy mofi w Bunyzawos puy wodiiosag

R
@\mw@%/@w e
.

SRy

SEN

s

e

>z

ARy

e

Juis 20 moq Mdwa un pun 1a10m fo 1mog v 'uosiad yana Jof dna vy

Juauedinbg
£3InUIW 2uo ur [moq o oy} 386 nofl uoa serom Jo sdna Aupw
MOH "YOD{ UTYY "YNS 10 }Mog 1210 ayl 0F a30J pun dna v pf YaIpm ypm pmog o |14 suopdiaasag

P AR
¢ E

A4

SRS
e

R
ey
A

e
e

‘uo o1 03 Buaylswog  uawdmby

aynuiw puo w1 op naft uno dn sps Aunw moy ruonduosag

b




S
A

‘uossad yova uof aspomo)id v ‘ssyiow ysiuf pun Bl Juswdimby / Teqy  cjuswdinby

¢3snf ystung ayg o a6 und oUAL JWIOY 10 200J YO0S D A cuoiduasag | aquaw Ajnun py3m syl op p|nca NoA 2INUIW 2US Ul fjug D 42302 und nofi sawn Aunw moy  suonduaseg




Friday




Somebody said that it couldn’t be done,

But he with a chuckle replied

That “maybe it couldn’t,” but he would be one
Who wouldn’t say so till he'd tried.

So he buckled right in with the trace of a grin
On his face. If he worried he hid it.

He started to sing as he tackled the thing
That couldn’t be done, and he did it.

Somebody scoffed: “Oh, you'll never do that;

At least no one ever has done it;”

But he took off his coat and he took off his hat,
And the first thing we knew he’'d begun it.

With a lift of his chin and a bit of a grin,
Without any doubting or quiddit,

He started to sing as he tackled the thing

That couldn’t be done, and he did it.

There are thousands to tell you it cannot be done,
There are thousands to prophesy failure;

There are thousands to point out to you one by one,
’ The dangers that wait to assail you.

But just buckle in with a bit of a grin,

Just take off your coat and go to it;

Just start to sing as you tackle the thing
That “cannot be done,” and you'll do it.

Edgar A. Guest
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Year 4 Reading Assessment Poetry

15. Is the poem about

( a man ) or ( a woman ) ? Circle one.

T
i¢

SR

16. Find and copy twe things that he took off before ‘he'd begun it’ (line 11}

-

58 8 ¥ B B B & 8 & & 6 & €& & ®w @& & & B G & & & & v & & B

&
&
23
[
%
&
L)
3
@
&
[

17. Which word means the same as ‘prophesy’ (line 18)? Circle one.

D | G G

18. Look at line 7 of each verse.
Find and copy the words which show what he did ‘as he tackled the thing’

“otal fors s
thispage .
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Year 4 Reading Assessment Poetry

19. Look at verse 1. Give two ways in which the author shows that ‘he’ was happy.

7~
1.

-
e

2.
\-

cannot be done’,

F 6 B oH oS & & & & B & 8 & 8 B L °® T & 5 v 8 & ¥ F 2 £ B 8 & & 8 & 8 8 & B8 & G 8

21. Line 14 says ‘Without any doubting or quiddit’
What do you think quiddit means in this context? Circle one.

( joy that it is being done ) ( worry about whether it can be done )

-
a
E
@
N
5
F
E
=
o
P
E
3
3
&
kil
23
.
9
g
.
]
:
&
@
g
E)
%
P
3
il
-
o
o
o
.
L=

22. How does the beginning of each verse in this poem differ in mood to the end of each verse?

Gusity Glardsnd
sprord gt
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Year 4 Reading Assessment Poetry

23. What is the author trying to tell his audience through this poem?
Give at least 2 pieces of evidence from the text to support your answer.

w visit twinkl.com
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A simple sentence includes a subject, a verb and an object.
The subject tells us who or what the sentence is about.
The verk tells us what happened.

3

The object tells us what is affected by the verb.

For example:

jirl sat on the @@%@E@Q
| } }

subject  wverb ohject
‘Look at these sentences below.

Can you identify the different parts of the sentence?

Susie borrowed my bike. Subject:
My favourite food is pizza. Object:
My sister eats ice cream. Verb:

Add in the missing subject, verb or object to complete each sentence.

ran along dinner That boy
the pool My teacher makes
The girl the beach.

wears bright dresses.

My dog likes to eat

rides his motorbike.

I like swimming at

The truck loud noises.

visit twinkl.com.au




Times Table Test - 11x Table

Check Check

1. 11 x0 = 13. 121 + 11 =
2. 11 x 6 = 14, 33+11 =
3. 2x11 = 15, 110 + 11 =
4, 11 x 11 = 16. 22 +11 =
5. 11 x 12 = 17. 44 = 11 =
6. 1x11~= 18. 77 + 11 =
7. 11 x 4 = 19. 11+ 11 =
8. 9x11 = 20. 132 + 11 =
9. 11 x 8 = 21. 66 + 11 =
10. 3x11= 22. 55+ 11 =
11. 11 x5 = 23. 99 + 11 =
12. 11 x 10 = 24, 88 + 11 =
My score: My score last time:

How I can improve:

w . visit twinkl.com @’



Compensation Strategy Subtraction

Show how you got your answer using the compensation strategy.

a. 45-31= b. 39 -11 =
c. 25-19 = d. 68-29 =
e. 36-21= f 44-18 =
g. 57-39 = h. 63-31=

w ) { ' visit twinklL.com.au .
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Compensation Strateqgy Subtraction

Show how you got your answer using the compensation strategy.

a. 77-49 = b. 91-49 =
c. 92-61= d. 87-31=
e. 78-52 = f 96-52=
g. 88-19 = h. 67-38 =

W w % visit twinkl.com.au
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Compensation Strateqgy Subtraction

Show how you got your answer using the compensation strategy.

a. 126 -31= b. 117 - 61 =
c. 164 -91= d. 98-32=
e. 156 - 89 = f. 147 -58 =
g. 187-39 = h. 175 - 48 =

w *** visit twinkl.com.au . .
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